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@ 0.000 9.3 8.50 0.0 0.4 0.40 0.0 0.4 0.40 0.0
® 2.300 14.2 11.75 27.0 0.4 0.40 0.9 0.4 0.40 0.9
@ 9.700 0.5 7.35 71.3 0.2 0.30 2.9 0.4 0.40 3.9
a8 & 19.700 129.9 6.1 7.9




7700 2300 9700

3.940

6660

®

200 2z U=k
N = _400 - RC—AO%EfTﬂDOmm
1.OTPFTY- Y 3HEE
avy)—k (0. 3+0. 45) /2x%0. 2% (0. 43+0. 41) = 0.06
0. 2x0. 45% (19. 70-0. 43-0. 41) = 1.70
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Eiv) B (0. 3+0. 45) /2% (0. 43+0. 41) *2 0.63
0.45%(19. 7-0. 43-0. 41) *2 16.97
=) ¥ 17.6 m2
HEERa 0.4%19.7 = 7.9 m2

B it # 1.76/19.7 = 0.1 m2
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A 22.83 m2




